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In Sakaev – Komarov (1989), Black appears to have a winning attack.  Can you find a table-turning plan for White?
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The 4th WA Grand Prix event, the Foundation Day Open (18 players), was won by 2004 champion Tim Hare (5/6).  Equal 2nd were Leon Taylor & Tom Donaldson (4.5), followed by ex-WA champions Mike Partis & David Ellis (4).  Natalie Maris (3.5) won the Under 1700 top prize, just ahead of Denis McMahon & Ned Tomic (3).  The outstanding performance was clearly that of Tom Donaldson, a 13 year old from the Albany-Denmark region who has been playing competitive chess for only two years and who travels up from the south for each Grand Prix event.  Not only was Tom unbeaten but he also faced the strongest opposition, playing 6 of the top 8 rated players with their rating averaging almost 300 points higher than his 1625.  He was not fazed by opponents’ age or reputation, playing confidently and relatively quickly, even when fighting for draws against Tim Hare and Mike Partis. For those who fall victim to Tom, console yourselves that losing to juniors happens to most chess players, even the top players – remember Gary Kasparov’s loss at Linares 2003 to 15 year old Teimour Radjabov?  Here then is one of Tom’s wins from the event.  His opponent, Gordon Dunlop who recently won the Fremantle Open with 6/7, paid tribute to his opponent’s play: ‘He just wouldn’t make a mistake’.



   GORDON  DUNLOP  -  TOM  DONALDSON



        2004 Foundation Day Tournament, Rd 4



           Caro-Kann: Panov-Botvinnik Attack



 1    e4 

c6


 2    d4  
d5



 3    exd  
cxd  


 4    c4  
Nf6



 5    Nc3  
Nc6  


 6    c5(a)  
e5



 7    Bb5  
exd  


 8    Qxd4
a6



 9    Bxc6+  
bxc6  


10   Na4(b)  
Be7



11   Nb6(c)  
Rb8  


12   a4  
Ne4



13   Nxc8  
Rxc8  


14   f3  
Nxc5



15   Qxg7(d)  
Bf6  


16   Qh6  
Nd3+



17   Kf1  
Qe7  


18   Ne2  
Nxb2



19   Bxb2  
Bxb2  


20   Re1  
Kd7(e)



21   Qd2  
Qf6  


22   Rb1 
Rb8



23   Kf2  
Rhe8  


24   Rhd1  
Be5(f)



25   g3 (g) 
h5!  


26   Rxb8  
Rxb8



27   Qa5(h)  
Rb2 


28   Qc5(i)  
h4



29   Qe3  
hxg    


30   hxg  
Qh8



31   f4(j)  
Qh2+  


32   Kf3  
Qh5+



33   Kf2  
Bd6(k)  

34   Qa7  
Bc7



35   Qxa6  
Bb6+  


White resigns

a)  Allowing Black to counter strongly in the centre: preferable would be 6 Bg5 or Nf3.

b)  The developing 10 Bg5 is a better way to save the c pawn (10…Qe7+  11 Nge2, Qxc5  12 Bxf6).  

c) Time wasting (as is the next) as well as depriving the c pawn of the knight’s protection.

d)  The breaking up of Black’s kingside does not compensate for White’s lack of development.

e)  Disastrous would be 20…Qf6??  21 Nd4+.

f)  24…Re4 would be a good alternative.

g)  If 25 Kg1, Qh4 would win the a pawn.

h) This allows the Black rook onto the 7th rank with threats to White’s king.

i) White could meet the threat of 28… Bd4+ (29 Rxd4, Qxd4) by 28 Qxa6 protecting his knight although Black could continue his attack with 28…h4.

j)   If 31 Kg2, Qg7 threatening 32…Qxg3+  (32 f4, Bxf4).

k)  33…Bc7 immediately is stronger.


SOLUTION:  White ignores Black’s threats to capture the rook with check followed by the capture of the bishop on g2: 1 Qh4!  After 1…Bxg1+  2 Kh1! and Black resigns (2… Rxg2  3 Qh8+, Kf7  4 Qh7/g8#:  2…Nf8  3 Qh6+, Kf7  3 R/Qxf8#:  2…g5  3 Qh8+, Kg6  4 Rg8+, Rg7  5 Qxg7#). 



